
Nom: Clé

Maths www.CommonCoreSheets.fr 1 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Réponses

1. 7 336

2. 6 486

3. 13 574

4. 10 845

5. 10 823

6. 5 396

7. 10 352

8. 11 199

9. 7 686

10. 13 989

11. 16 138

12. 13 058

13. 5 498

14. 11 292

15. 17 091

16. 5 121

17. 9 359

18. 7 935

19. 6 738

20. 3 782

Résoudre chaque problème.

1) 5 951 + 1 385 = 7 336

2) 4 001 + 2 485 = 6 486

3) 8 765 + 4 809 = 13 574

4) 7 888 + 2 957 = 10 845

5) 6 081 + 4 742 = 10 823

6) 3 258 + 2 138 = 5 396

7) 6 962 + 3 390 = 10 352

8) 9 309 + 1 890 = 11 199

9) 5 675 + 2 011 = 7 686

10) 8 363 + 5 626 = 13 989

11) 8 429 + 7 709 = 16 138

12) 6 606 + 6 452 = 13 058

13) 3 346 + 2 152 = 5 498

14) 7 186 + 4 106 = 11 292

15) 9 909 + 7 182 = 17 091

16) 2 781 + 2 340 = 5 121

17) 5 182 + 4 177 = 9 359

18) 6 387 + 1 548 = 7 935

19) 3 438 + 3 300 = 6 738

20) 2 043 + 1 739 = 3 782



Nom: Clé

Maths www.CommonCoreSheets.fr 1

Réponses

1. 7 336

2. 6 486

3. 13 574

4. 10 845

5. 10 823

6. 5 396

7. 10 352

8. 11 199

9. 7 686

10. 13 989

11. 16 138

12. 13 058

13. 5 498

14. 11 292

15. 17 091

16. 5 121

17. 9 359

18. 7 935

19. 6 738

20. 3 782

Résoudre chaque problème.

1) 5 951 + 1 385 = 7 336

2) 4 001 + 2 485 = 6 486

3) 8 765 + 4 809 = 13 574

4) 7 888 + 2 957 = 10 845

5) 6 081 + 4 742 = 10 823

6) 3 258 + 2 138 = 5 396

7) 6 962 + 3 390 = 10 352

8) 9 309 + 1 890 = 11 199

9) 5 675 + 2 011 = 7 686

10) 8 363 + 5 626 = 13 989

11) 8 429 + 7 709 = 16 138

12) 6 606 + 6 452 = 13 058

13) 3 346 + 2 152 = 5 498

14) 7 186 + 4 106 = 11 292

15) 9 909 + 7 182 = 17 091

16) 2 781 + 2 340 = 5 121

17) 5 182 + 4 177 = 9 359

18) 6 387 + 1 548 = 7 935

19) 3 438 + 3 300 = 6 738

20) 2 043 + 1 739 = 3 782

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0



Nom: Clé

Maths www.CommonCoreSheets.fr
Modifié 1

Résoudre chaque problème.

7 686 10 845 5 396 16 138

10 352 7 336 11 199 13 058

10 823 13 989 13 574 6 486

1) 5 951 + 1 385 = 7 336

2) 4 001 + 2 485 = 6 486

3) 8 765 + 4 809 = 13 574

4) 7 888 + 2 957 = 10 845

5) 6 081 + 4 742 = 10 823

6) 3 258 + 2 138 = 5 396

7) 6 962 + 3 390 = 10 352

8) 9 309 + 1 890 = 11 199

9) 5 675 + 2 011 = 7 686

10) 8 363 + 5 626 = 13 989

11) 8 429 + 7 709 = 16 138

12) 6 606 + 6 452 = 13 058

Réponses

1. 7 336

2. 6 486

3. 13 574

4. 10 845

5. 10 823

6. 5 396

7. 10 352

8. 11 199

9. 7 686

10. 13 989

11. 16 138

12. 13 058

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0



Nom: Clé

Maths www.CommonCoreSheets.fr 2 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Réponses

1. 13 270

2. 12 301

3. 11 852

4. 6 679

5. 10 654

6. 4 884

7. 11 972

8. 9 944

9. 10 358

10. 14 584

11. 18 701

12. 12 932

13. 13 220

14. 5 978

15. 7 629

16. 6 453

17. 3 281

18. 13 647

19. 11 346

20. 10 890

Résoudre chaque problème.

1) 7 389 + 5 881 = 13 270

2) 6 268 + 6 033 = 12 301

3) 8 956 + 2 896 = 11 852

4) 5 654 + 1 025 = 6 679

5) 6 486 + 4 168 = 10 654

6) 3 090 + 1 794 = 4 884

7) 9 325 + 2 647 = 11 972

8) 8 593 + 1 351 = 9 944

9) 9 110 + 1 248 = 10 358

10) 8 994 + 5 590 = 14 584

11) 9 640 + 9 061 = 18 701

12) 7 517 + 5 415 = 12 932

13) 7 724 + 5 496 = 13 220

14) 4 357 + 1 621 = 5 978

15) 3 947 + 3 682 = 7 629

16) 5 313 + 1 140 = 6 453

17) 1 942 + 1 339 = 3 281

18) 6 990 + 6 657 = 13 647

19) 6 360 + 4 986 = 11 346

20) 6 432 + 4 458 = 10 890



Nom: Clé

Maths www.CommonCoreSheets.fr 2

Réponses

1. 13 270

2. 12 301

3. 11 852

4. 6 679

5. 10 654

6. 4 884

7. 11 972

8. 9 944

9. 10 358

10. 14 584

11. 18 701

12. 12 932

13. 13 220

14. 5 978

15. 7 629

16. 6 453

17. 3 281

18. 13 647

19. 11 346

20. 10 890

Résoudre chaque problème.

1) 7 389 + 5 881 = 13 270

2) 6 268 + 6 033 = 12 301

3) 8 956 + 2 896 = 11 852

4) 5 654 + 1 025 = 6 679

5) 6 486 + 4 168 = 10 654

6) 3 090 + 1 794 = 4 884

7) 9 325 + 2 647 = 11 972

8) 8 593 + 1 351 = 9 944

9) 9 110 + 1 248 = 10 358

10) 8 994 + 5 590 = 14 584

11) 9 640 + 9 061 = 18 701

12) 7 517 + 5 415 = 12 932

13) 7 724 + 5 496 = 13 220

14) 4 357 + 1 621 = 5 978

15) 3 947 + 3 682 = 7 629

16) 5 313 + 1 140 = 6 453

17) 1 942 + 1 339 = 3 281

18) 6 990 + 6 657 = 13 647

19) 6 360 + 4 986 = 11 346

20) 6 432 + 4 458 = 10 890

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0



Nom: Clé

Maths www.CommonCoreSheets.fr
Modifié 2

Résoudre chaque problème.

12 932 18 701 6 679 4 884

13 270 11 972 14 584 10 654

12 301 10 358 11 852 9 944

1) 7 389 + 5 881 = 13 270

2) 6 268 + 6 033 = 12 301

3) 8 956 + 2 896 = 11 852

4) 5 654 + 1 025 = 6 679

5) 6 486 + 4 168 = 10 654

6) 3 090 + 1 794 = 4 884

7) 9 325 + 2 647 = 11 972

8) 8 593 + 1 351 = 9 944

9) 9 110 + 1 248 = 10 358

10) 8 994 + 5 590 = 14 584

11) 9 640 + 9 061 = 18 701

12) 7 517 + 5 415 = 12 932

Réponses

1. 13 270

2. 12 301

3. 11 852

4. 6 679

5. 10 654

6. 4 884

7. 11 972

8. 9 944

9. 10 358

10. 14 584

11. 18 701

12. 12 932

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0



Nom: Clé

Maths www.CommonCoreSheets.fr 3 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Réponses

1. 10 553

2. 7 262

3. 19 577

4. 12 213

5. 9 647

6. 11 388

7. 5 755

8. 15 168

9. 11 335

10. 11 187

11. 9 273

12. 13 882

13. 8 589

14. 7 279

15. 14 390

16. 14 434

17. 14 215

18. 12 825

19. 5 676

20. 3 818

Résoudre chaque problème.

1) 7 817 + 2 736 = 10 553

2) 5 402 + 1 860 = 7 262

3) 9 936 + 9 641 = 19 577

4) 9 506 + 2 707 = 12 213

5) 5 672 + 3 975 = 9 647

6) 7 744 + 3 644 = 11 388

7) 3 473 + 2 282 = 5 755

8) 9 324 + 5 844 = 15 168

9) 5 885 + 5 450 = 11 335

10) 8 779 + 2 408 = 11 187

11) 8 084 + 1 189 = 9 273

12) 7 730 + 6 152 = 13 882

13) 4 328 + 4 261 = 8 589

14) 4 599 + 2 680 = 7 279

15) 7 471 + 6 919 = 14 390

16) 7 534 + 6 900 = 14 434

17) 9 440 + 4 775 = 14 215

18) 7 517 + 5 308 = 12 825

19) 3 591 + 2 085 = 5 676

20) 1 967 + 1 851 = 3 818



Nom: Clé

Maths www.CommonCoreSheets.fr 3

Réponses

1. 10 553

2. 7 262

3. 19 577

4. 12 213

5. 9 647

6. 11 388

7. 5 755

8. 15 168

9. 11 335

10. 11 187

11. 9 273

12. 13 882

13. 8 589

14. 7 279

15. 14 390

16. 14 434

17. 14 215

18. 12 825

19. 5 676

20. 3 818

Résoudre chaque problème.

1) 7 817 + 2 736 = 10 553

2) 5 402 + 1 860 = 7 262

3) 9 936 + 9 641 = 19 577

4) 9 506 + 2 707 = 12 213

5) 5 672 + 3 975 = 9 647

6) 7 744 + 3 644 = 11 388

7) 3 473 + 2 282 = 5 755

8) 9 324 + 5 844 = 15 168

9) 5 885 + 5 450 = 11 335

10) 8 779 + 2 408 = 11 187

11) 8 084 + 1 189 = 9 273

12) 7 730 + 6 152 = 13 882

13) 4 328 + 4 261 = 8 589

14) 4 599 + 2 680 = 7 279

15) 7 471 + 6 919 = 14 390

16) 7 534 + 6 900 = 14 434

17) 9 440 + 4 775 = 14 215

18) 7 517 + 5 308 = 12 825

19) 3 591 + 2 085 = 5 676

20) 1 967 + 1 851 = 3 818

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0



Nom: Clé

Maths www.CommonCoreSheets.fr
Modifié 3

Résoudre chaque problème.

9 273 11 187 5 755 11 335

13 882 7 262 12 213 19 577

9 647 10 553 15 168 11 388

1) 7 817 + 2 736 = 10 553

2) 5 402 + 1 860 = 7 262

3) 9 936 + 9 641 = 19 577

4) 9 506 + 2 707 = 12 213

5) 5 672 + 3 975 = 9 647

6) 7 744 + 3 644 = 11 388

7) 3 473 + 2 282 = 5 755

8) 9 324 + 5 844 = 15 168

9) 5 885 + 5 450 = 11 335

10) 8 779 + 2 408 = 11 187

11) 8 084 + 1 189 = 9 273

12) 7 730 + 6 152 = 13 882

Réponses

1. 10 553

2. 7 262

3. 19 577

4. 12 213

5. 9 647

6. 11 388

7. 5 755

8. 15 168

9. 11 335

10. 11 187

11. 9 273

12. 13 882

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0



Nom: Clé

Maths www.CommonCoreSheets.fr 4 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Réponses

1. 8 938

2. 13 489

3. 7 418

4. 14 428

5. 14 706

6. 14 610

7. 13 625

8. 15 273

9. 14 800

10. 12 297

11. 8 780

12. 13 429

13. 13 504

14. 6 136

15. 14 339

16. 13 145

17. 17 933

18. 13 790

19. 12 811

20. 18 077

Résoudre chaque problème.

1) 7 697 + 1 241 = 8 938

2) 7 068 + 6 421 = 13 489

3) 3 766 + 3 652 = 7 418

4) 9 802 + 4 626 = 14 428

5) 8 276 + 6 430 = 14 706

6) 7 618 + 6 992 = 14 610

7) 8 368 + 5 257 = 13 625

8) 9 338 + 5 935 = 15 273

9) 9 631 + 5 169 = 14 800

10) 8 293 + 4 004 = 12 297

11) 4 673 + 4 107 = 8 780

12) 8 535 + 4 894 = 13 429

13) 7 495 + 6 009 = 13 504

14) 4 260 + 1 876 = 6 136

15) 8 014 + 6 325 = 14 339

16) 7 736 + 5 409 = 13 145

17) 9 127 + 8 806 = 17 933

18) 9 284 + 4 506 = 13 790

19) 9 503 + 3 308 = 12 811

20) 9 871 + 8 206 = 18 077



Nom: Clé

Maths www.CommonCoreSheets.fr 4

Réponses

1. 8 938

2. 13 489

3. 7 418

4. 14 428

5. 14 706

6. 14 610

7. 13 625

8. 15 273

9. 14 800

10. 12 297

11. 8 780

12. 13 429

13. 13 504

14. 6 136

15. 14 339

16. 13 145

17. 17 933

18. 13 790

19. 12 811

20. 18 077

Résoudre chaque problème.

1) 7 697 + 1 241 = 8 938

2) 7 068 + 6 421 = 13 489

3) 3 766 + 3 652 = 7 418

4) 9 802 + 4 626 = 14 428

5) 8 276 + 6 430 = 14 706

6) 7 618 + 6 992 = 14 610

7) 8 368 + 5 257 = 13 625

8) 9 338 + 5 935 = 15 273

9) 9 631 + 5 169 = 14 800

10) 8 293 + 4 004 = 12 297

11) 4 673 + 4 107 = 8 780

12) 8 535 + 4 894 = 13 429

13) 7 495 + 6 009 = 13 504

14) 4 260 + 1 876 = 6 136

15) 8 014 + 6 325 = 14 339

16) 7 736 + 5 409 = 13 145

17) 9 127 + 8 806 = 17 933

18) 9 284 + 4 506 = 13 790

19) 9 503 + 3 308 = 12 811

20) 9 871 + 8 206 = 18 077

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0



Nom: Clé

Maths www.CommonCoreSheets.fr
Modifié 4

Résoudre chaque problème.

14 610 14 800 15 273 8 780

8 938 7 418 14 706 13 489

13 625 12 297 13 429 14 428

1) 7 697 + 1 241 = 8 938

2) 7 068 + 6 421 = 13 489

3) 3 766 + 3 652 = 7 418

4) 9 802 + 4 626 = 14 428

5) 8 276 + 6 430 = 14 706

6) 7 618 + 6 992 = 14 610

7) 8 368 + 5 257 = 13 625

8) 9 338 + 5 935 = 15 273

9) 9 631 + 5 169 = 14 800

10) 8 293 + 4 004 = 12 297

11) 4 673 + 4 107 = 8 780

12) 8 535 + 4 894 = 13 429

Réponses

1. 8 938

2. 13 489

3. 7 418

4. 14 428

5. 14 706

6. 14 610

7. 13 625

8. 15 273

9. 14 800

10. 12 297

11. 8 780

12. 13 429

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0



Nom: Clé

Maths www.CommonCoreSheets.fr 5 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Réponses

1. 7 395

2. 10 350

3. 11 489

4. 4 427

5. 10 060

6. 13 389

7. 10 589

8. 3 124

9. 4 607

10. 7 369

11. 10 303

12. 2 848

13. 6 392

14. 6 654

15. 12 330

16. 6 470

17. 3 252

18. 7 244

19. 15 320

20. 14 450

Résoudre chaque problème.

1) 3 768 + 3 627 = 7 395

2) 7 869 + 2 481 = 10 350

3) 8 964 + 2 525 = 11 489

4) 3 409 + 1 018 = 4 427

5) 5 684 + 4 376 = 10 060

6) 9 946 + 3 443 = 13 389

7) 5 950 + 4 639 = 10 589

8) 2 085 + 1 039 = 3 124

9) 3 055 + 1 552 = 4 607

10) 3 977 + 3 392 = 7 369

11) 5 441 + 4 862 = 10 303

12) 1 593 + 1 255 = 2 848

13) 4 392 + 2 000 = 6 392

14) 5 073 + 1 581 = 6 654

15) 6 287 + 6 043 = 12 330

16) 4 457 + 2 013 = 6 470

17) 2 029 + 1 223 = 3 252

18) 5 124 + 2 120 = 7 244

19) 9 197 + 6 123 = 15 320

20) 9 001 + 5 449 = 14 450



Nom: Clé

Maths www.CommonCoreSheets.fr 5

Réponses

1. 7 395

2. 10 350

3. 11 489

4. 4 427

5. 10 060

6. 13 389

7. 10 589

8. 3 124

9. 4 607

10. 7 369

11. 10 303

12. 2 848

13. 6 392

14. 6 654

15. 12 330

16. 6 470

17. 3 252

18. 7 244

19. 15 320

20. 14 450

Résoudre chaque problème.

1) 3 768 + 3 627 = 7 395

2) 7 869 + 2 481 = 10 350

3) 8 964 + 2 525 = 11 489

4) 3 409 + 1 018 = 4 427

5) 5 684 + 4 376 = 10 060

6) 9 946 + 3 443 = 13 389

7) 5 950 + 4 639 = 10 589

8) 2 085 + 1 039 = 3 124

9) 3 055 + 1 552 = 4 607

10) 3 977 + 3 392 = 7 369

11) 5 441 + 4 862 = 10 303

12) 1 593 + 1 255 = 2 848

13) 4 392 + 2 000 = 6 392

14) 5 073 + 1 581 = 6 654

15) 6 287 + 6 043 = 12 330

16) 4 457 + 2 013 = 6 470

17) 2 029 + 1 223 = 3 252

18) 5 124 + 2 120 = 7 244

19) 9 197 + 6 123 = 15 320

20) 9 001 + 5 449 = 14 450

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0



Nom: Clé

Maths www.CommonCoreSheets.fr
Modifié 5

Résoudre chaque problème.

2 848 11 489 7 395 10 350

4 427 10 060 3 124 13 389

4 607 7 369 10 303 10 589

1) 3 768 + 3 627 = 7 395

2) 7 869 + 2 481 = 10 350

3) 8 964 + 2 525 = 11 489

4) 3 409 + 1 018 = 4 427

5) 5 684 + 4 376 = 10 060

6) 9 946 + 3 443 = 13 389

7) 5 950 + 4 639 = 10 589

8) 2 085 + 1 039 = 3 124

9) 3 055 + 1 552 = 4 607

10) 3 977 + 3 392 = 7 369

11) 5 441 + 4 862 = 10 303

12) 1 593 + 1 255 = 2 848

Réponses

1. 7 395

2. 10 350

3. 11 489

4. 4 427

5. 10 060

6. 13 389

7. 10 589

8. 3 124

9. 4 607

10. 7 369

11. 10 303

12. 2 848

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0



Nom: Clé

Maths www.CommonCoreSheets.fr 6 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Réponses

1. 15 518

2. 9 483

3. 12 815

4. 3 676

5. 12 457

6. 16 869

7. 5 424

8. 10 749

9. 16 540

10. 15 999

11. 12 392

12. 9 456

13. 16 173

14. 14 008

15. 15 800

16. 9 647

17. 16 246

18. 2 795

19. 7 910

20. 10 420

Résoudre chaque problème.

1) 8 736 + 6 782 = 15 518

2) 8 244 + 1 239 = 9 483

3) 7 678 + 5 137 = 12 815

4) 2 325 + 1 351 = 3 676

5) 7 968 + 4 489 = 12 457

6) 8 983 + 7 886 = 16 869

7) 3 849 + 1 575 = 5 424

8) 6 435 + 4 314 = 10 749

9) 8 951 + 7 589 = 16 540

10) 9 564 + 6 435 = 15 999

11) 7 529 + 4 863 = 12 392

12) 4 917 + 4 539 = 9 456

13) 9 347 + 6 826 = 16 173

14) 7 354 + 6 654 = 14 008

15) 9 982 + 5 818 = 15 800

16) 6 805 + 2 842 = 9 647

17) 8 892 + 7 354 = 16 246

18) 1 606 + 1 189 = 2 795

19) 4 649 + 3 261 = 7 910

20) 8 619 + 1 801 = 10 420



Nom: Clé

Maths www.CommonCoreSheets.fr 6

Réponses

1. 15 518

2. 9 483

3. 12 815

4. 3 676

5. 12 457

6. 16 869

7. 5 424

8. 10 749

9. 16 540

10. 15 999

11. 12 392

12. 9 456

13. 16 173

14. 14 008

15. 15 800

16. 9 647

17. 16 246

18. 2 795

19. 7 910

20. 10 420

Résoudre chaque problème.

1) 8 736 + 6 782 = 15 518

2) 8 244 + 1 239 = 9 483

3) 7 678 + 5 137 = 12 815

4) 2 325 + 1 351 = 3 676

5) 7 968 + 4 489 = 12 457

6) 8 983 + 7 886 = 16 869

7) 3 849 + 1 575 = 5 424

8) 6 435 + 4 314 = 10 749

9) 8 951 + 7 589 = 16 540

10) 9 564 + 6 435 = 15 999

11) 7 529 + 4 863 = 12 392

12) 4 917 + 4 539 = 9 456

13) 9 347 + 6 826 = 16 173

14) 7 354 + 6 654 = 14 008

15) 9 982 + 5 818 = 15 800

16) 6 805 + 2 842 = 9 647

17) 8 892 + 7 354 = 16 246

18) 1 606 + 1 189 = 2 795

19) 4 649 + 3 261 = 7 910

20) 8 619 + 1 801 = 10 420

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0



Nom: Clé

Maths www.CommonCoreSheets.fr
Modifié 6

Résoudre chaque problème.

15 518 9 456 10 749 12 815

15 999 16 540 3 676 16 869

12 457 9 483 12 392 5 424

1) 8 736 + 6 782 = 15 518

2) 8 244 + 1 239 = 9 483

3) 7 678 + 5 137 = 12 815

4) 2 325 + 1 351 = 3 676

5) 7 968 + 4 489 = 12 457

6) 8 983 + 7 886 = 16 869

7) 3 849 + 1 575 = 5 424

8) 6 435 + 4 314 = 10 749

9) 8 951 + 7 589 = 16 540

10) 9 564 + 6 435 = 15 999

11) 7 529 + 4 863 = 12 392

12) 4 917 + 4 539 = 9 456

Réponses

1. 15 518

2. 9 483

3. 12 815

4. 3 676

5. 12 457

6. 16 869

7. 5 424

8. 10 749

9. 16 540

10. 15 999

11. 12 392

12. 9 456

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0



Nom: Clé

Maths www.CommonCoreSheets.fr 7 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Réponses

1. 13 602

2. 8 292

3. 11 840

4. 12 445

5. 16 037

6. 12 743

7. 9 540

8. 12 732

9. 12 034

10. 10 663

11. 9 719

12. 12 036

13. 10 291

14. 14 804

15. 13 314

16. 15 879

17. 10 023

18. 17 598

19. 12 182

20. 10 393

Résoudre chaque problème.

1) 7 484 + 6 118 = 13 602

2) 4 264 + 4 028 = 8 292

3) 8 923 + 2 917 = 11 840

4) 7 371 + 5 074 = 12 445

5) 9 745 + 6 292 = 16 037

6) 7 029 + 5 714 = 12 743

7) 6 820 + 2 720 = 9 540

8) 8 764 + 3 968 = 12 732

9) 8 381 + 3 653 = 12 034

10) 7 433 + 3 230 = 10 663

11) 7 304 + 2 415 = 9 719

12) 8 961 + 3 075 = 12 036

13) 5 465 + 4 826 = 10 291

14) 8 719 + 6 085 = 14 804

15) 9 572 + 3 742 = 13 314

16) 8 906 + 6 973 = 15 879

17) 7 402 + 2 621 = 10 023

18) 9 053 + 8 545 = 17 598

19) 8 978 + 3 204 = 12 182

20) 5 969 + 4 424 = 10 393



Nom: Clé

Maths www.CommonCoreSheets.fr 7

Réponses

1. 13 602

2. 8 292

3. 11 840

4. 12 445

5. 16 037

6. 12 743

7. 9 540

8. 12 732

9. 12 034

10. 10 663

11. 9 719

12. 12 036

13. 10 291

14. 14 804

15. 13 314

16. 15 879

17. 10 023

18. 17 598

19. 12 182

20. 10 393

Résoudre chaque problème.

1) 7 484 + 6 118 = 13 602

2) 4 264 + 4 028 = 8 292

3) 8 923 + 2 917 = 11 840

4) 7 371 + 5 074 = 12 445

5) 9 745 + 6 292 = 16 037

6) 7 029 + 5 714 = 12 743

7) 6 820 + 2 720 = 9 540

8) 8 764 + 3 968 = 12 732

9) 8 381 + 3 653 = 12 034

10) 7 433 + 3 230 = 10 663

11) 7 304 + 2 415 = 9 719

12) 8 961 + 3 075 = 12 036

13) 5 465 + 4 826 = 10 291

14) 8 719 + 6 085 = 14 804

15) 9 572 + 3 742 = 13 314

16) 8 906 + 6 973 = 15 879

17) 7 402 + 2 621 = 10 023

18) 9 053 + 8 545 = 17 598

19) 8 978 + 3 204 = 12 182

20) 5 969 + 4 424 = 10 393

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0



Nom: Clé

Maths www.CommonCoreSheets.fr
Modifié 7

Résoudre chaque problème.

8 292 12 445 16 037 12 036

9 719 13 602 11 840 10 663

12 743 9 540 12 034 12 732

1) 7 484 + 6 118 = 13 602

2) 4 264 + 4 028 = 8 292

3) 8 923 + 2 917 = 11 840

4) 7 371 + 5 074 = 12 445

5) 9 745 + 6 292 = 16 037

6) 7 029 + 5 714 = 12 743

7) 6 820 + 2 720 = 9 540

8) 8 764 + 3 968 = 12 732

9) 8 381 + 3 653 = 12 034

10) 7 433 + 3 230 = 10 663

11) 7 304 + 2 415 = 9 719

12) 8 961 + 3 075 = 12 036

Réponses

1. 13 602

2. 8 292

3. 11 840

4. 12 445

5. 16 037

6. 12 743

7. 9 540

8. 12 732

9. 12 034

10. 10 663

11. 9 719

12. 12 036

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0



Nom: Clé

Maths www.CommonCoreSheets.fr 8 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Réponses

1. 8 025

2. 9 437

3. 7 217

4. 14 231

5. 10 566

6. 8 714

7. 15 789

8. 10 187

9. 6 333

10. 2 589

11. 13 694

12. 13 988

13. 15 608

14. 7 446

15. 6 801

16. 10 846

17. 10 942

18. 14 061

19. 6 248

20. 6 101

Résoudre chaque problème.

1) 6 534 + 1 491 = 8 025

2) 6 122 + 3 315 = 9 437

3) 5 793 + 1 424 = 7 217

4) 8 133 + 6 098 = 14 231

5) 7 647 + 2 919 = 10 566

6) 6 803 + 1 911 = 8 714

7) 8 796 + 6 993 = 15 789

8) 7 819 + 2 368 = 10 187

9) 4 526 + 1 807 = 6 333

10) 1 299 + 1 290 = 2 589

11) 7 098 + 6 596 = 13 694

12) 7 876 + 6 112 = 13 988

13) 9 630 + 5 978 = 15 608

14) 4 112 + 3 334 = 7 446

15) 5 611 + 1 190 = 6 801

16) 6 819 + 4 027 = 10 846

17) 5 944 + 4 998 = 10 942

18) 8 484 + 5 577 = 14 061

19) 3 279 + 2 969 = 6 248

20) 3 763 + 2 338 = 6 101



Nom: Clé

Maths www.CommonCoreSheets.fr 8

Réponses

1. 8 025

2. 9 437

3. 7 217

4. 14 231

5. 10 566

6. 8 714

7. 15 789

8. 10 187

9. 6 333

10. 2 589

11. 13 694

12. 13 988

13. 15 608

14. 7 446

15. 6 801

16. 10 846

17. 10 942

18. 14 061

19. 6 248

20. 6 101

Résoudre chaque problème.

1) 6 534 + 1 491 = 8 025

2) 6 122 + 3 315 = 9 437

3) 5 793 + 1 424 = 7 217

4) 8 133 + 6 098 = 14 231

5) 7 647 + 2 919 = 10 566

6) 6 803 + 1 911 = 8 714

7) 8 796 + 6 993 = 15 789

8) 7 819 + 2 368 = 10 187

9) 4 526 + 1 807 = 6 333

10) 1 299 + 1 290 = 2 589

11) 7 098 + 6 596 = 13 694

12) 7 876 + 6 112 = 13 988

13) 9 630 + 5 978 = 15 608

14) 4 112 + 3 334 = 7 446

15) 5 611 + 1 190 = 6 801

16) 6 819 + 4 027 = 10 846

17) 5 944 + 4 998 = 10 942

18) 8 484 + 5 577 = 14 061

19) 3 279 + 2 969 = 6 248

20) 3 763 + 2 338 = 6 101

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0



Nom: Clé

Maths www.CommonCoreSheets.fr
Modifié 8

Résoudre chaque problème.

15 789 2 589 10 187 10 566

9 437 8 025 7 217 13 694

14 231 13 988 8 714 6 333

1) 6 534 + 1 491 = 8 025

2) 6 122 + 3 315 = 9 437

3) 5 793 + 1 424 = 7 217

4) 8 133 + 6 098 = 14 231

5) 7 647 + 2 919 = 10 566

6) 6 803 + 1 911 = 8 714

7) 8 796 + 6 993 = 15 789

8) 7 819 + 2 368 = 10 187

9) 4 526 + 1 807 = 6 333

10) 1 299 + 1 290 = 2 589

11) 7 098 + 6 596 = 13 694

12) 7 876 + 6 112 = 13 988

Réponses

1. 8 025

2. 9 437

3. 7 217

4. 14 231

5. 10 566

6. 8 714

7. 15 789

8. 10 187

9. 6 333

10. 2 589

11. 13 694

12. 13 988

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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Maths www.CommonCoreSheets.fr 9 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Réponses

1. 15 038

2. 10 273

3. 10 763

4. 7 137

5. 17 987

6. 8 197

7. 9 953

8. 17 317

9. 13 036

10. 9 025

11. 9 733

12. 14 901

13. 11 893

14. 10 460

15. 12 887

16. 13 664

17. 9 338

18. 5 823

19. 13 902

20. 10 862

Résoudre chaque problème.

1) 9 133 + 5 905 = 15 038

2) 5 180 + 5 093 = 10 273

3) 8 601 + 2 162 = 10 763

4) 4 303 + 2 834 = 7 137

5) 9 327 + 8 660 = 17 987

6) 6 660 + 1 537 = 8 197

7) 7 011 + 2 942 = 9 953

8) 8 856 + 8 461 = 17 317

9) 7 043 + 5 993 = 13 036

10) 5 744 + 3 281 = 9 025

11) 8 554 + 1 179 = 9 733

12) 8 639 + 6 262 = 14 901

13) 9 796 + 2 097 = 11 893

14) 8 810 + 1 650 = 10 460

15) 9 320 + 3 567 = 12 887

16) 8 772 + 4 892 = 13 664

17) 7 380 + 1 958 = 9 338

18) 4 316 + 1 507 = 5 823

19) 8 572 + 5 330 = 13 902

20) 6 216 + 4 646 = 10 862



Nom: Clé

Maths www.CommonCoreSheets.fr 9

Réponses

1. 15 038

2. 10 273

3. 10 763

4. 7 137

5. 17 987

6. 8 197

7. 9 953

8. 17 317

9. 13 036

10. 9 025

11. 9 733

12. 14 901

13. 11 893

14. 10 460

15. 12 887

16. 13 664

17. 9 338

18. 5 823

19. 13 902

20. 10 862

Résoudre chaque problème.

1) 9 133 + 5 905 = 15 038

2) 5 180 + 5 093 = 10 273

3) 8 601 + 2 162 = 10 763

4) 4 303 + 2 834 = 7 137

5) 9 327 + 8 660 = 17 987

6) 6 660 + 1 537 = 8 197

7) 7 011 + 2 942 = 9 953

8) 8 856 + 8 461 = 17 317

9) 7 043 + 5 993 = 13 036

10) 5 744 + 3 281 = 9 025

11) 8 554 + 1 179 = 9 733

12) 8 639 + 6 262 = 14 901

13) 9 796 + 2 097 = 11 893

14) 8 810 + 1 650 = 10 460

15) 9 320 + 3 567 = 12 887

16) 8 772 + 4 892 = 13 664

17) 7 380 + 1 958 = 9 338

18) 4 316 + 1 507 = 5 823

19) 8 572 + 5 330 = 13 902

20) 6 216 + 4 646 = 10 862

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0



Nom: Clé

Maths www.CommonCoreSheets.fr
Modifié 9

Résoudre chaque problème.

17 317 7 137 9 025 9 953

9 733 10 273 15 038 8 197

10 763 17 987 14 901 13 036

1) 9 133 + 5 905 = 15 038

2) 5 180 + 5 093 = 10 273

3) 8 601 + 2 162 = 10 763

4) 4 303 + 2 834 = 7 137

5) 9 327 + 8 660 = 17 987

6) 6 660 + 1 537 = 8 197

7) 7 011 + 2 942 = 9 953

8) 8 856 + 8 461 = 17 317

9) 7 043 + 5 993 = 13 036

10) 5 744 + 3 281 = 9 025

11) 8 554 + 1 179 = 9 733

12) 8 639 + 6 262 = 14 901

Réponses

1. 15 038

2. 10 273

3. 10 763

4. 7 137

5. 17 987

6. 8 197

7. 9 953

8. 17 317

9. 13 036

10. 9 025

11. 9 733

12. 14 901

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0



Nom: Clé

Maths www.CommonCoreSheets.fr 10 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Réponses

1. 6 263

2. 10 308

3. 11 921

4. 13 339

5. 12 599

6. 15 537

7. 17 606

8. 17 750

9. 7 512

10. 18 080

11. 10 049

12. 5 513

13. 11 306

14. 7 979

15. 8 511

16. 8 888

17. 9 165

18. 11 298

19. 15 155

20. 5 625

Résoudre chaque problème.

1) 3 635 + 2 628 = 6 263

2) 9 053 + 1 255 = 10 308

3) 9 706 + 2 215 = 11 921

4) 7 077 + 6 262 = 13 339

5) 9 549 + 3 050 = 12 599

6) 8 588 + 6 949 = 15 537

7) 8 963 + 8 643 = 17 606

8) 9 263 + 8 487 = 17 750

9) 6 102 + 1 410 = 7 512

10) 9 244 + 8 836 = 18 080

11) 7 401 + 2 648 = 10 049

12) 3 040 + 2 473 = 5 513

13) 6 616 + 4 690 = 11 306

14) 4 095 + 3 884 = 7 979

15) 4 547 + 3 964 = 8 511

16) 7 676 + 1 212 = 8 888

17) 8 030 + 1 135 = 9 165

18) 6 529 + 4 769 = 11 298

19) 8 848 + 6 307 = 15 155

20) 4 561 + 1 064 = 5 625



Nom: Clé

Maths www.CommonCoreSheets.fr 10

Réponses

1. 6 263

2. 10 308

3. 11 921

4. 13 339

5. 12 599

6. 15 537

7. 17 606

8. 17 750

9. 7 512

10. 18 080

11. 10 049

12. 5 513

13. 11 306

14. 7 979

15. 8 511

16. 8 888

17. 9 165

18. 11 298

19. 15 155

20. 5 625

Résoudre chaque problème.

1) 3 635 + 2 628 = 6 263

2) 9 053 + 1 255 = 10 308

3) 9 706 + 2 215 = 11 921

4) 7 077 + 6 262 = 13 339

5) 9 549 + 3 050 = 12 599

6) 8 588 + 6 949 = 15 537

7) 8 963 + 8 643 = 17 606

8) 9 263 + 8 487 = 17 750

9) 6 102 + 1 410 = 7 512

10) 9 244 + 8 836 = 18 080

11) 7 401 + 2 648 = 10 049

12) 3 040 + 2 473 = 5 513

13) 6 616 + 4 690 = 11 306

14) 4 095 + 3 884 = 7 979

15) 4 547 + 3 964 = 8 511

16) 7 676 + 1 212 = 8 888

17) 8 030 + 1 135 = 9 165

18) 6 529 + 4 769 = 11 298

19) 8 848 + 6 307 = 15 155

20) 4 561 + 1 064 = 5 625

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0



Nom: Clé

Maths www.CommonCoreSheets.fr
Modifié 10

Résoudre chaque problème.

17 750 11 921 13 339 10 308

7 512 10 049 5 513 18 080

17 606 12 599 6 263 15 537

1) 3 635 + 2 628 = 6 263

2) 9 053 + 1 255 = 10 308

3) 9 706 + 2 215 = 11 921

4) 7 077 + 6 262 = 13 339

5) 9 549 + 3 050 = 12 599

6) 8 588 + 6 949 = 15 537

7) 8 963 + 8 643 = 17 606

8) 9 263 + 8 487 = 17 750

9) 6 102 + 1 410 = 7 512

10) 9 244 + 8 836 = 18 080

11) 7 401 + 2 648 = 10 049

12) 3 040 + 2 473 = 5 513

Réponses

1. 6 263

2. 10 308

3. 11 921

4. 13 339

5. 12 599

6. 15 537

7. 17 606

8. 17 750

9. 7 512

10. 18 080

11. 10 049

12. 5 513

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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